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C Nmaj=Tedade Majhola

C NBW=Max(2*ABS(I-J)+2)

C NN=Tedade Gereh

C ND=Tedede Aksolamal Tekiegahi
C NE=Tedade Ozvha

C
dimension xx(Nmaj, 2*¥Nmaj+3),ss(Nmaj, 2*Nmaj+3),{f(2*Nmaj+3),

¢ X(NN,2),NOC(NE,4),PM(1,2),AREA(2*Nmaj+3, 2*Nmaj+3),NU(ND),stressp(NE),
¢ REACT(ND),F(2*NN),SE(4,4),S(2*NN,NBW), AL(NE,2*Nmaj+3),U(ND)

Gk ok ok ook ok ok ook ook ok ok koo ok ok okl ok ek ook ook ok ook sk ok ok

Nmaj=5
NE=3

NN=4

ND=6

NL=2

NM=1

NA=3
€=21000000.0

xx(1,1)=3.0
xx(2,1)=19.0
xx(3,1)=0.1
xx(4,1)=154.0
xx(5,1)=460.0

(e}

xx(1,2)=3.5
xx(2,2)=18.1
xx(3,2)=0.1
xx(4,2)=130.0
xx{5,2)=440.0

(e}

xx(1,3)=3.8
xx(2,3)=19.0
xx(3,3)=0.2
xx(4,3)=130.0
xx(5,3)=460.0

xx(1,4)=3.8
xx(2,4)=19.5
xx(3,4)=0.18
xx(4,4)=90.0
xx(5,4)=470.0

xx(1,5)=3.2
xx(2,5)=19.0
xx(3,5)=0.2
xx(4,5)=55.0
xx(5,5)=460.0

xx(1,6)=3.2
xx(2,6)=18.0
xx(3,6)=0.25
xx(4,6)=19.0
xx(5,6)=470.0

xx{1,7)=3.5
xx(2,7)=17.0

i1



xx(3,7)=0.2
xx(4,7)=130.0
xx(5,7)=400.0

xx(1,8)=3.4
xx(2,8)=18.0
xx(3,8)=0.17
xx(4,8)=120.0
xx(5,8)=442.0

xx(1,9)=3.0
xx(2,9)=18.3
xx(3,9)=0.1
xx(4,9)=10.0
xx(5,9)=470.0

xx(1,10)=3.1
xx(2,10)=18.5
xx(3,10)=0.2
xx(4,10)=15.0
xx(5,10)=420.0

xx(1,12)=0
xx(2,12)=0
xx(3,12)=0
xx(4,12)=0
xx(5,12)=0

xx(1,13)=0
xx(2,13)=0
xx(3,13)=0
xx(4,13)=0
xx(5,13)=0

C
do 30 jL=1,2*Nmaj
C*************************************************************************
C*** N= SHOMAREH OZVE , 1=SHOMARE i , 2=<SHOMAREH j, 3=1 ,4=AREA **%##*
C***************** NOC(N,1)=SHOMAREH (i)! ) NOC(N,J)z") 336 of ke 3¢ 2l 3k 3¢ 2k ik of¢ of¢ Ak 3k 34 ik ok ¢ o e
C N=1
NOC(1,1)=1
NOC(1,2)=2
NOC(1,3)=1
NOC(1,4)=1
C N=2
NOC(2,1)=3
NOC(2,2)=2
NOC(2,3)=1
NOC(2,4)=2
C N=3
NOC(3,1)=4
NOC(3,2)=2
NOC(3,3)=1
NOC(3,4)=3
N=4
NOC(4,1)=4
NOC(4,2)=3
NOC(4,3)=1
NOC(4,4)=4
N=5
NOC(N,1)=
NOC(N,2)=
NOC(N,3)=
NOC(N,4)=
N=6

oOOn00O0Noe o oo n

v



o oNoNe!

NOC(N,1)=
NOC(N,2)=
NOC(N,3)=
NOC(N,4)=

C*************************************************************************

45

DO 45 N=1,NE
C=2*(ABS(NOC(N,2)-NOC(N,1)))+2.0
IF(NBW.LT.C)THEN

NBW=C

END IF

CONTINUE

C*************************************************************************

44

do 44 i=1,NE
AREA(I,jL)=xx(i,jL)
CONTINUE

C*************************************************************************

C*****

55
50

DIMENSION S(NQ,NBW),F(NQ),SE(4,4) #¥isoksask sk skt sk ok ok ok g
DO 50 I=1,NQ

F(NQ)=0

DO 55 JJ=1,NBW

S(L,J1=0

CONTINUE

CONTINUE

C*************************************************************************

Crexxnsknrinns MOKHTASAT X=X(N,1), Y=X(N,2) **** N=~SHOMAREH GEREH***#*%x*
C******************************* X(N,l)zx(gereh) s X(N’2)=Y(gereh)********

loXeXoNe!

X(1,1)=-480.0
X(1,2)=0.0
X(2,1)=xx(4,jL)
X(2,2)=xx(5,jL)
X(3,1)=0
X(3,2)=0
X(4,1)=360.0
X(4,2)=0
X(5,1)=
X(5,2)=
X(6,1)=
X(6,2)=

C*************************************************************************

c********* E= BE "[*EDAD NM (KE MAMOLAN YEKI AST 2463k 3k o o 3¢ 3k 2k ok 3k sk ke sl ke ofe s keoke skl ok ok

E=21000000.0
PM(1,1)=E
PM(1,2)=0.0

C*************************************************************************

C************* JAHAT}IAII KEH ’I’EKIEHGAH AST U(I):O*************************

C
C

NU(1)=1
U(1)=0
NU(2)=2
UQ)=0
NU3)=5
UG3)=0
NU(4)=6
U4)=0
NU(5)=7
U(5)=0
NU(6)=8
U(6)=0
NU(7)=8
U(7)=0

(e R AR R K K R AR SRR KK K o A KRR KRR A AR KK K ol KK A R o K koK K o

C***N=SHOMAREH GEREH , BARE VAREDEH DAR JAHATE U(I),U(I+]) **#&dodoioiokokaok

N=2
F(2*N-1)=90000
F(2*N)=225000

A



o000 ne 60

N=3
F(2*N-1)=0
F(2*N)=-100000
N=3

F(2*N-1)=?
F(2*N)=2?

N=4

F(2*N-1)=?
FQ2*N)=7?

(O sokdookaoroR Aok ook dotdoroR o Kok kool koo ol okttt ook ol o skt ool sotofsl ko ok sk ek ok ok
Crxacksdoksoorkockkoriok QATCHTI KOLLT * %%k sk dokodedestofsdodeokote ok sk sdeston sk okttt s o o skok ek ook

DO 60 N=1,NE
11=NOC(N, 1)
2=NOC(N,2)
I3=NOC(N,3)
14=NOC(N, 4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11 ,2)
EL=SQRT(X21%%2+Y21%*2)
EAL=E*AREA(I4,jL)/EL
CS=X21/EL
SN=Y21/EL
SE(1,1)=CS*CS*EAL
SE(1,2)=CS*SN*EAL
SE(2,1)=SE(1,2)
SE(1,3)=-CS*CS*EAL
SE(3,1)=SE(1,3)
SE(1,4)=-CS*SN*EAL
SE(4,1)=SE(1,4)
SE(2,2)=SN*SN*EAL
SE(2,3)=-CS*SN*EAL
SE(3,2)=SE(2,3)
SE(2,4)=-SN*SN*EAL
SE(4,2)=SE(2,4)
SE(3,3)=CS*CS*EAL
SE(3,4)=CS*SN*EAL
SE(4,3)=SE(3,4)
SE(4,4)=SN*SN*EAL
DO 65 II=1,2
NRT=2*(NOC(N,II)-1)
DO 70 IT=1,2
NR=NRT+T
[=2%(I-1)+IT
DO 75 1I=1.2
NCT=2*(NOC(N,J3)-1)
DO 80 JT=1,2
J=2*(JI-1)+IT
NC=NCTHT-NR+1
IF(NC.LE.0) THEN
GO TO 80
END IF
S(NR,NC)=S(NR,NC)+SE(I,J)
CONTINUE
CONTINUE
CONTINUE
CONTINUE
CONTINUE

C*************************************************************************
C******** SHARAYET MARZII 3 e 3k e o 34 2K 26 oK e e b G s 356 e e ok o e oK g ek o dfe s ok e s A o sk o s ek e e e e ok oK oK ok ook

CNST=S(1,1)*10000
DO 85 I=1,ND
N=NU(®I)
S(N,1)=S(N,1)+CNST
F(N)=F(N)+CNST*U(I)
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85 CONTINUE

C*************************************************************************
C********** HALLE MOADELAT 2k 33 3 3k e e 3 e e e 3 e o e K e K e ok 2k 25k 25k ok sk sk sk sk ok sk sk ok ok ok ok ok ook
NI1=NQ-1
DO 90 K=1,N1
NK=NQ-K+1
IF(NK.GT.NBW) THEN
NK=NBW
END IF
DO 95 [=2,NK
C1=S(K,I)/S(K,1)
[1=K+1-1
DO 100 J=I,NK
J1=J-1+1
SI1,71)=S8(11,J1)-C1*S(K,J)
100 CONTINUE
F(I1)=F(11)-C1*F(K)
95 CONTINUE
90 CONTINUE
FNQ)=F(NQ)/S(NQ,1)
DO 105 KK=1,N1
K=NQ-KK
CI=1/S(K,1)
F(K)=C1*F(K)
NK=NQ-K+1
IF(NK.GT.NBW)THEN
NK=NBW
END IF
DO 110 J=2,NK
F(K)=F(K)-C1*S(K,J)*F(K+J-1)
119 CONTINUE
105 CONTINUE

(R ok sokskoroR st ok oloR kool ok sooR sk akoioRoR kR ok kR ok o ok ok sl ook ok o sk ok o
CRskkdooor ook ok ook dokdok ok QTRIESS  #cksksoksookaoksokok ook ook ok ook ook ook

DO 115 1=1,NE
11=NOC(1,1)
12=NOC(I,2)
3=NOC(1,3)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y2]**2)
CS=X21/EL
SN=Y21/EL
12=2#1
J1=12-1
K2=2*12
KI1=K2-1
DT=(F(K1)-F(J1))*CS+(F(K2)-F(J2))*SN
STRESS=DT*PM(I3,1)/EL
STRESSP(I)=STRESS

115 CONTINUE

c*************************************************************************

c
ss(1,jL)y=stressp(l)
ss(2,jL)=stressp(2)
ss(3,jL)=stressp(3)

c ss(4,jL)y=stressp(4)

C ss(4,jLy=xx(4,jL)

C ss(5,jLy=xx(5,jL)

c ss(7,jLy=xx(7,jL)

c ss(8,jLy=xx(8,jL)

c***********

30 continue

C



c
35 do 31 i=1,Nmaj
xx(1,2 *Nmaj+1)=0
31 continue
do 190 1=1,Nmaj
do 195 j=1,2*Nmaj
xx(i,2*¥*Nmaj+1)=xx(1,j)/(2*Nmaj)+xx(i,2¥Nmaj+1)
195 continue
190 continue
c
c
do 200 j=1,2*Nmaj+1
FF(J)=0
DO 199 N=1 NE

AREA(1,j)=xx(1,))
AREA(2,))=xx(2,j)
AREA(3,j)=xx(3,j)
c AREA(4,j)=xx(4,))
cHRddokpokdok ik MOKHTASAT X=X(N,1), Y=X(N,2) **** N=SHOMAREH GEREH*******
X(1,1)=-480.0
X(1,2)=0
X(2,1)=xx(44)
X(2,2)=xx(5.})
X(3,1)=0
X(3,2)=0
X(4,1)=360.0
X(4,2)=0
C**********
11=NOC(N,!)
12=NOC(N,2)
13=NOC(N,3)
I4=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21**2)
AL(N,))=AREA(14,))*EL
FF(J)=FF(J)+AL(N,))
199 continue
200 continue
c
c

c=0
do 205 j=1,2*Nmaj
c=(ff(2*Nmaj+1)-ff(j))**2+c
205 continue
SR KRR R AOK SRl Kk sk R oK R K R ol koK R R K R K o
if((1.0/(2*Nmaj)*c)**0.5.1t.4.5) go to 2000
max=0
do 210 j=1,2*Nmaj
if(ff(j).gt.max) then
max=ff{j)
h=j
end if

210 continue
c*************************************************************************

C
C

kj=2*Nmaj+2
do 215 i=1,Nmaj
xx(1,kj)=0
do 214 j=1,2*Nmaj
xx(1,kj)=xx(1,kj)+xx(i,j)



214 continue
xx(1,kj)=1.0/(2*Nmaj-1)*(xx(i,kj)-xx(i,h))

215 continue
C*************************************************************************
a=1.3

1600 do 220 i=1,Nmaj
xx(i,kj+1)=(1+ay*xx(,kj)-a*xx(i,h)
220 continue
C*************************************************************************
DO 225 N=1,NE
C=2*(ABS(NOC(N,2)-NOC(N,1)))+2.0
IF(NBW.LT.C)THEN
NBW=C
END IF
225 CONTINUE
c*************************************************************************
do 224 i=1,NE
AREA(1kj+1)=xx(i,kj+1)
224 CONTINUE
C*************************************************************************
ToLLiil DIMENSION S(NQ,NBW),F(NQ),SE(4,4) *¥*#skoksosokt ok stk doronok 4 1
DO 240 I=1,NQ
F(NQ)=0
DO 235 JJ=1,NBW
S,J1)=0
235 CONTINUE
240 CONTINUE
C*************************************************************************
Cosorcdorxdkciioiok MOKHTASAT X=X(N,1), Y=X(N,2) **** N=SHOMAREH GEREH****##**
gRRIR R R R R kR Rk kRO XN 1 )= (gereh) , X(N,2)=Y (gereh)**#xdikx
X(1,1y=-480.0
X(1,2)=0
X(@2,1)=xx(4kj+1)
X(2,2y=xx(5,kj+1)
X@3,1)=0
X(3,2)=0
X(4,1)=360.0
X(4,2)=0
X(5,1)=
'X(5,2)=
X(6,1)=
X(6,2)=
C*************************************************************************
C********* E: BE 'I‘EDAD NM (KE MAMOLAN YEKI AST) 356 3f¢ a4 of¢ 46 of¢ 24 ohe of b6 oo of¢ ofe of¢ ok ok 3f¢ ok of¢ ofe 3¢ o 3K ok ok ok
E=21000000.0
PM(1,1)=E
PM(1,2)=0.0
C*************************************************************************
C***N=SHOMAREH GEREH , BARE VAREDEH DAR JAHATE U(I),U(I+1) *#¥*kkFkskokkdokkx
N=2
F(2*N-1)=50000
F(2*N)=225000

leXoXeXe]

c N=3

¢ F(2*N-1)=0

¢ F(2*N)=-100000
C N=3

C F(2*N-1)=?

C F(2*N)=2?

C N=4

C F(Q2*N-1)=?

C F(2*N)=7?

C*************************************************************************
C***************** SAKHTI KOLI 3¢ s 24 o ok b 2k s ok o oK o o5 3R o ok ok o o5 o ok 3k oK o ok o ok ke ok o ok sk ofk ok ok o of¢ ¢ oK ok k¢ oK

DO 250 N=1,NE



280
265
260
255
250

11=NOC(N,1)
12=NOC(N,2)
3=NOC(N,3)
T4=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(I1,2)
EL=SQRT(X21**2+Y21%%2)
EAL=E*AREA(I4,kj+1)/EL
CS=X21/EL
SN-Y21/EL
SE(1,1)=CS*CS*EAL
SE(1,2)=CS*SN*EAL
SE(2,1)=SE(1,2)
SE(1,3)=-CS*CS*EAL
SE(3,1)=SE(1,3)
SE(1,4)=-CS*SN*EAL
SE(4,1)=SE(1,4)
SE(2,2)=SN*SN*EAL
SE(2,3)=-CS*SN*EAL
SE(3,2)=SE(2,3)
SE(2,4)=-SN*SN*EAL
SE(4,2)=SE(2,4)
SE(3,3)=CS*CS*EAL
SE(3,4)=CS*SN*EAL
SE(4,3)=SE(3,4)
SE(4,4)=SN*SN*EAL
DO 255 T1=1,2
NRT=2*(NOC(N,II)-1)
DO 260 IT=1,2
NR=NRT+IT
[=2%(II-1)+IT
DO 265 I1=1,2
NCT=2*(NOC(N,J)-1)
DO 280 IT=1,2
J=2*(JI-1)+IT
NC=NCT+T-NR+1
I[F(NC.LE.0) THEN
GO TO 280
END IF
S(NR,NC)=S(NR,NC)+SE(LJ)
CONTINUE
CONTINUE
CONTINUE
CONTINUE
CONTINUE

C*************************************************************************
C******** SHARAY'ET MARZII 34 3 2 o 3K 30 oK 5K oK 3 36 3K 3k K o K 3K R S 3 oK 3K 3K R 6 K oK 3k oK o K 3k ok o 6 6 oK 9k oK oK 2k R oK K

285

CNST=S(1,1)*10000
DO 285 I=1,ND
N=NU(T)
S(N,1)=S(N,1)+CNST
F(N)=F(N)+CNST*U(I)
CONTINUE

c*************************************************************************

NI1=NQ-1

DO 290 K=1,N1

NK=NQ-K+1

IF(NK.GT.NBW) THEN
NK=NBW

END IF

DO 295 I=2,NK

CI=S(K,I)/S(K,1)

[1=K+I-1

YaY



300

295
290

310
305

DO 300 J=I,NK

J1=J.1+1

S(I1,71)=8(I1,]1)-C1*S(K,J)

CONTINUE

F(I1)=F(11)-C1*F(K)

CONTINUE

CONTINUE

F(NQ)=F(NQ)/S(NQ,1)

DO 305 KK=1,N1

K=NQ-KK

Cl=1/S(K,1)

F(K)=C1*F(K)

NK=NQ-K+1

IF(NK.GT.NBW)THEN
NK=NBW

END IF

DO 310 J=2,NK

F(K)=F(K)-C1*S(K,J)*F(K +J-1)

CONTINUE

CONTINUE

C*************************************************************************
C************************** ST]{ESS 2k o ok o ok e ok ok ok e ok ok o ke e s B ok e ok ok ok ook ok kol ok ok ok ok de ke ke ok

DO 315 I=1,NE
11=NOC(1,1)

12=NOC(1,2)

13=NOC(1,3)

X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21*%¥2+Y2]*%2)
CS=X21/EL

SN=Y21/EL

12=2+]1

J1=12-1

K2=2*12

K1=K2-1
DT=(F(K1)-FA1))*CS+(F(K2)-F(J2))*SN
STRESS=DT*PM(I3,1)/EL
STRESSP(I)=STRESS

315 CONTINUE
C*************************************************************************
c

ss(1,kj+1)=STRESSP(1)

ss(2,kj+1)=STRESSP(2)

ss(3,kj+1)=STRESSP(3)
c ss(4,jL)=stressp(4)
c ss(5,jLy=xx(5,jL)

C*************************************************************************

C*************************************************************************

FF(kj+1)=0

DO 320 N=I,NE
AREA(1,kj+1)=xx(1,kj+1)
AREA(Q2,kj+1)=xx(2,kj+1)
AREA(3.kj+1)=xx(3.kj+1)
AREA(4,j)=xx(4,j)
X(1,1y=-480.0

X(1,2)=0
X(2,1y=xx(4,kj+1)
X(2,2)=xx(5,kjt1)
X(@3,1)=0

X(3,2)=0

X(4,1)=360.0

X(4,2)=0

11=NOC(N,1)
12=NOC(N,2)



13=NOC(N,3)

14=NOC(N,4)

X21=X(12,1)-X(11,1)

Y21=X(12,2)-X(11,2)

EL=SQRT(X21**2+Y2]*%2)

AL(N,kj+1)=AREA(14,kj+1)*EL

FF(kj+1)=FF(kj+1)}+AL(N,kj+1)
320 continue

fi(kj)=ff(kj+1)
C*************************************************************************
C*************************************************************************
C*********************** Geydhaye Masale 3¢ j¢ o ok ok ok ok ok ok ok B¢ % B ok B ok ok ok ok ok ok ok o koK
C******** Kontrole Taneshha l") 34 3¢ 3¢ 3¢ 3 ok ofe ok ol ok ol ok ok ok Sk K 34k i ok Sk sk o ke ok ok ok ok ok ok ok koK ook kol kok ok ok

Narea=3

do 325 i=1,Narea
if (xx(i,kj+1).ge.0) go to 251

go to 261
251 if ((ss(i,kj+1)/13000)-1.1£.0} go to 252
go to 261
252 if((-ss(i,kj+1)/13000)-1.1t.0) go to 253
go to 261

C*************************************************************************
C******** Kontrole Sharayete Hendessi lf) ok e e e o s ke ok o s ok sk ok ok s s sk ofe sl ofe sk skokok dkok ok ok ok

253 if (xx(4,kj+1).ge.-200.0) go to 254

go to 261

254 if (xx(4,kj+1).1e.200.0) go to 256
go to 261

256 if (xx(5,kj+1).ge.350.0) go to 257
go to 261

257 if (xx(5,kj+1).1e.550.0) go to 325

261 do 336 k=1,Nmaj
xx (ki1 =(xx (ki Fxx (ki 1))/2.0
336 continue

C*************************************************************************
FF(kj+1)=0
DO 340 N=1,NE
j=kj+1

C*********
AREA(1,j)=xx(1,j)
AREA(Q2,j)=xx(2,j)
AREAQ3,))=xx(3,))

c AREA(4,))=xx(4,})
X(1,1)=-480.0
X(1,2)=0
X(2,1)=xx(4,))
X(2,2)=xx(5,j)
X(3,1)=0
X(3,2)=0
X(4,1)=360.0
X(4,2)=0
I11=NOC(N,1)
12=NOC(N,2)
I13=NOC(N,3)
14=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y2]**2)
AL(N,j)=AREA(I4,j)*EL
FF()=FF()*AL(N,j)

340 continue
ff(j-1)=ff(j)

325 continue

c




if(f(h). gt. ff(ki)) go to 1244

a=a/2
go to 1600
1244 do 283 i=1,Nmaj
xx(i,h)=xx(i,kj+1)
283 continue
goto 35
2000  print* xx(1,kj-1),xx(2,kj-1),xx(3,kj-1),xx(4,kj-1),xx(5,kj-1),
c ffikj-1)
¢3000 PRINT* {f(12)
end



(ras a3 b ol Jlo b3 (2 e iy JolS (2 ) 99 0,ledh gy

C Nmaj=Tedade Majhola

C Nzoj=Tedade Kole Zojhaye Amozesh
C NBW=Max(2*ABS(I-1)+2)

C NN=Tedade Gereh

C ND=Tedede Aksolamal Tekiegahi

C NE=Tedade Ozvha

C
dimension v(Nmaj,Nzoj),w(Nmaj,Nzoj),xx(Nmaj,Nzoj),y(Nmaj,Nzoj),
c d(Nzoj),ss(Nmaj,Nzoj),ff(2*Nmaj+3),L(NE),SF(Nmaj,Nzoj),

¢ X(NN,2),NOC(NE,4),PM(1,2),AREA(Nz0j,Nz0j),NUND),stressp(NE),
¢ REACT(ND),F(2*NN),SE(4,4),S(2*NN,NBW),AL(NE,2*Nmaj+3),U(ND)
C*************************************************************************
Print*,'Enter Nmaj,Nzoj,NE,NN,ND ?'
Read (*,*)Nmaj,Nzoj,NE,NN,ND

C*************************************************************************

E=21000000.0

a=0.7
b=0.1
n=1
p=1
C*************************************************************************
NQ=2*NN
NBW=0
c*************************************************************************
c FAZAYE JOSTOJO

print*,'Enter fazaye jostojo x0(1),dxx(1), ... ,x0(Nmaj),dxx(Nmaj) ?'
read (*,*) (x0(i),dxx(i),i=1,Nmaj)
do 5 k=1,Nzoj
do 1 i=1,Nmaj
xx(1,k)=x0(i)+k*dxx(i)

1 contiue
5 continue
c

C*** N= SHOMAREH OZVE , 1=SHOMARE i, 2=SHOMAREH j, 3=1 ,4=AREA *¥#i¥i*
Crrtrkpickokrkonkk NOC(N,))=SHOMAREH (i)! , NOC(N,J)=7 #adkohidiciooiok dokopoiok ok
Print*,'N=shomare ozve , |=shomare i , 2=shomare j , 3=jens , 4=area'
Print *'enter NOC(N,1),NOC(N,2),NOC(N,3),NOC(N,4)'
Read (*,*) (NOC(I,1),NOC(1,2),NOC(I,3),NOC(I,4),I=1,NE)

c
Crdridddokockiok MOKHTASAT X=X(N,1), Y=X(N,2) **** N=SHOMAREH GEREH********
R o ok sk ok ook N =X (gereh) , X(N,2)=Y (gereh) *## s kkxk
X(1,1)=-480.0
X(1,2)=0.0
X(2,1)y=xx(4,jL)
X(2,2)=xx(5,jL)
X(3,1)=0.0
X(3,2)=0.0
X(4,1)=360.0
X(4,2)=0
X(5,1)=
X(5,2)=
X(6,1)=
X(6,2)=
RO R R R OO AR Ao oo AR A AR AR AR A KRR oK
Crswsoiokskonion sk JAWATHAIL KEH TEKIEHGAH AST U(I)s0% #kwoiok ok doioicdorod ok ook ook ok
print*,'Enter jahati keh tekiegah ast'
print* 'NU(D)=? , U(I)=0'
Read(*,*) (NU(i),U(i),i=1,ND)

0000




C***N=SHOMAREH GEREH , BARE VAREDEH DAR JAHATE U(I),U(I+1) *¥¥¥kkkiicnnnx
Print*,'Enter N=shomare gereh , bare varede be gereh'
read(*,*) N, F(2*N-1) , F(2*N)

C*************************************************************************

¢
c
DO 6 I=1,Nmaj
v(Lp)=xx(1,1)
6 CONTINUE
I
7 do 10 k=2,Nzoj
do 15j=1,p
do 20 i=1,Nmaj
y(i,j)y=xx(i,k)}-v(i,j)
20 continue
15 continue
¢
do25j=1p
dd=0
do 24 i=1,Nmaj
dd=dd+y(i,j)**2
24 continue
d(j)=sqri(dd)
25 continue
c
min=d(1)
m=]
do 30 j=1,p
if(d(j).lt.min) then
min=d(j)
m=j
end if
30 continue
c
if(d(m).gt.0.5) then
p=ptl
DO 31 I=1,Nmaj
v(Lp)=xx(Lk)
31 CONTINUE
else
do 35 i=1,Nmaj
v(i,m)=(1-ay*v(i,m)+a*xx(i,k)
35 continue
end if
10 continue
c
¢

do 40 jL=1,Nzoj

C*************************************************************************
c*************************************************************************

DO 45 N=1,NE

C=2*(ABS(NOC(N,2)-NOC(N, 1)))+2.0

IF(NBW.LT.C)THEN

NBW=C

END IF
45 CONTINUE
c*************************************************************************

do 44 i=1,NE

AREA(i,jL)=xx(i,jL)
44 CONTINUE
C*************************************************************************
C***** DIMENSION S(NQ’N'BW),F(NQ),SE(4’4) 4 2k o 3k 2k ok 3k 3k 3k 3k 3k 2k ok 3k 3k k 3k 3k 3k o ok 3k X ok dkk

DO 50 I=1,NQ

F(NQ)=0



DO 55 JJ=1,NBW

: S(1,J7)=0
55 CONTINUE
50 CONTINUE

C*********************************************** 303k 9 3k 8 sje ke sk ke e ok sk sk ke sk ok sk sk ok ok ok ok ok sk

C********* E: BE TEDAD NM (KE MAMOLAN YEKI AST) % ok 3k ok 3k 3k k ok 3k K ok 3k sk sk 24 ok 3 ok 3k 3K K e ok ok K
E=21000000.0
PM(1,1)=E
PM(1,2)=0.0

C*************************************************************************
C*************************************************************************
C***************** SAKHTI KOLLT ok sk skoke sk ok ok ok ok ok ook ook o sk s b o ook ook ook ok ok e ke ok e sk o ok o ok ok ok ok ok

DO 60 N=1,NE
11=NOC(N,1)
2=NOC(N,2)
13=NOC(N,3)
14=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21%*2+Y21%%2)
EAL=<E*AREA(I4,jL)/EL
CS=X21/EL
SN=Y21/EL
SE(1,1)=CS*CS*EAL
SE(1,2)=CS*SN*EAL
SE(2,1)=SE(1,2)
SE(1,3)=-CS*CS*EAL
SE(3,1)=SE(1,3)
SE(1,4)=-CS*SN*EAL
SE(4,1)=SE(1,4)
SE(2,2)=SN*SN*EAL
SE(2,3)=-CS*SN*EAL
SE(3,2)=SE(2,3)
SE(2,4)=-SN*SN*EAL
SE(4,2)=SE(2,4)
SE(3,3)=CS*CS*EAL
SE(3,4)=CS*SN*EAL
SE(4,3)=SE(3,4)
SE(4,4)=SN*SN*EAL
DO 65 11=1,2
NRT=2*(NOC(N,II)-1)
DO 70 IT=1,2
NR=NRTHT
[=2%(I[-1)+IT

DO 75 JI=1.2
NCT=2*(NOC(N,JN)-1)
DO 80 JT=1,2
J=2*(JJ-1)+IT
NC=NCT-+JT-NR+1

IF(NC.LE.0) THEN
GO TO 80
END IF
S(NR,NC)=S(NR,NC)+SE(I,])
80 CONTINUE
75 CONTINUE
70 CONTINUE
65 CONTINUE
60 CONTINUE

C*************************************************************************
C******** SHARAYET MARZII K 3k 3k k ak 3k 3k 3k ok ok 3k ak ok 3k k sk 3k 3 ok 2k ok 2k 3k 3k ok ok ok ¢ 3k ok ok ke 3k Ak ok akk 3k 3k ok 3k ok K ak ok ok ok
CNST=S(1,1)¥10000
DO 85 I=1,ND
N=NU(I)
S(N,1)=S(N,1)+CNST



F(N)=F(N)+CNST*U(I)
85 CONTINUE

C*************************************************************************
CrH¥xdkrkiks HATLE MOADELAT 3 3 e e 2 2 b e 3 ok e e e 3 ok ek ke ok b 3 e ok ok b e 6 ok ok B e 6 K ok ok o ke sk o o Kok ke kK Kok

N1=NQ-1
DO 90 K=1,N1
NK=NQ-K+1
IF(NK.GT.NBW) THEN
NK=NBW
END IF
DO 95 [=2,NK
C1=S(K,1)/S(K,1)
I11=K+I-1
DO 100 J=I,NK
J1=J-1+1
S(I1,J1)=8(11,)1)-C1 *S(K,J)
100 CONTINUE
F(I1)=F(11)-C1*F(K)
95 CONTINUE
90 CONTINUE
FINQ)=F(NQ)/S(NQ,1)
DO 105 KK=1,N1
K=NQ-KK
C1=1/S(K,1)
F(K)=C1*F(K)
NK=NQ-K+1
IF(NK.GT.NBW)THEN
NK=NBW
END IF
DO 110 J=2,NK
F(K)=F(K)-C1*S(K,))*F(K+J-1)
110 CONTINUE
105 CONTINUE

(oo ek oo R KKK R S K o KRR KR o ke el ok e ok ol ool o ol o ok s ok o o
Coxxkdsrskokokdok b roRoooRR Kok Rk Rk QTRIESS Aok ok otk okote ookl e s ok ok o s o

DO 115 I=1,NE
11=NOC(L,1)
2=NOC(1,2)
13=NOC(1,3)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21#*2+Y21*%2)
CS=X21/EL
SN=Y21/EL
12=2*11
J1=12-1
K2=2*12
K1=K2-1
DT=(F(K1)-FJ1))*CS+(F(K2)-F(J2))*SN
STRESS=DT*PM(I3,1)/EL
STRESSP(I)=STRESS

115 CONTINUE

C*************************************************

c
do 111 i=1,NE
ss(i,jL)=stressp(i)
111 continue

do 112 i=NE+1,Nmaj
ss(i,jL)=stressp(i)
112 contiue
c*********************
40 continue
c

c*************************************************************************

YYye



do 125 k=1,Nzoj
do 130 j=1,p
do 135 i=1,Nmaj
y(i,jy=xx(1,k)-v(i,j)

135 continue
130 continue
c
do 140 j=1,p
dd=0

do 139 i=1,Nmaj
dd=dd+y(i,j)**2

139 continue
dGj)=sart(dd)

140 continue

c
min=d(1)
m=1
do 145 j=2,p
if(d(j).It.min) then
min=d(j)
m=j
end if

145 continue

c

if(n.gt.p) then
DO 146 I=1,Nmaj
w(I,m)=(1-b)*w(I,m)+b*ss(I,k)
146 CONTINUE
else
DO 147 I=1,Nmaj
w(l,m)=ss(1,k)
147 CONTINUE
n=n+1
end if
125 continue

a=a/1.05
b=b/1.05
if(a.gt.0.1) goto 7

¢ payan amoozesh *w* —--—-e-ooeoomee

xx(1,1)=4.5
xx(2,1)=21.0
xx(3,1)=0.06
xx(4,1)=104.162
xx(5,1)=420.0
xx(6,1)=1.5
xx(7,1)=3.5
xx(8,1)=0.1

O 6006

xx(1,2)=3.5
xx(2,2)=19.0
xx(3,2)=0.025
xx(4,2)=80.0
xx(5,2)=360.0
xx(6,2)=0.95
xx(7,2)=3.5
xx(8,2)=-0.4

o000

xx(1,3)=3.95
xx(2,3)=15.9
xx(3,3)=0.07
xx(4,3)=142.0



o o0 o0 o o000 o o0 o000 o o0 00 O o0 00 O 066

O 0 0o

xx(5,3)=355.0
xx(6,3)=1.1
xx(7,3)=3.25
xx(8,3)=0.1

xx(1,4)=2.9
xx(2,4)=26.4
xx(3,4)=0.07
xx(4,4)=90.0
xx(5,4)=379.0
xx(6,4)=1.2
xx(7,4)=2.9
xx(8,4)=0.0

xx(1,5)=5.6
xx(2,5)=21.4
xx(3,5)=0.04
xx(4,5)=80.8
xx(5,5)=480.0
xx(6,3)=1.2
xx(7,5)=3.5
xx(8,5)=-0.3

xx(1,6)=3.9
xx(2,6)=29.0
xx(3,6)=0.06
xx(4,6)=38.0
xx(5,6)=428.2
xx(6,6)=0.9
xx(7,6)=3.1
xx(8,6)=0

xx(1,7)=4.5
xx(2,7)=17.9
xx(3,7)=0.07
xx(4,7)=73.0
xx(5,7)=460.0
xx(6,7)=1.09
xx(7,7)=3.3
xx{8,7)=-0.03

xx(1,8)=3.0
xx(2,8)=17.9
xx(3,8)=0.05
xx(4,8)=58.0
xx(5,8)=385.0
xx(6,8)=1.0
xx(7,8)=3.1
xx(8,8)=-0.3

xx(1,9)=2.1
xx(2,9)=28.0
xx(3,9)=0.065
xx(4,9)=95.0
xx(5,9)=390.0
xx(6,9)=1.2
xx(7,9)=3.6
xx(8,9)=0

xx(1,10)=4.8
xx(2,10)=18.5
xx(3,10)=0.1
xx(4,10)=101.0
xx(5,10)=540.0



xx(6,10)=0.8
xx(7,10)=2.8
xx(8,10)=0

o o000

xx(1,11)=0
xx(2,11)=0
xx(3,11)=0
xx(4,11)=0
xx(5,11)=0
xx(6,11)=1.1
xx(7,11)=3.3
xx(8,11)=-0.1

C o006

CCCCCCCeeeeceeeceecceececceceeceeceeceeceeeccceececceecceccecececcceececceecece
C

do 155 k=1,2*Nmaj
do 160 j=1,p

do 165 i=1,Nmaj
y(A.=xx(i,k)-v(i,j)

165 continue
160 continue
c
do 170 j=1,p
dd=0

do 169 i=1,Nmaj
dd=dd+y(i,j)**2

169 continue
d(j)=sqrt(dd)

170 continue

¢??77222222772772772227777722722222222722277727772227722722229229722202022022222272277277?
sk=0
do 175 j=L,p
if(d(j).Le.5.957035) then
sk=sk-+d(j)
end if

175 continue

c z(j)=(sk-d(§))/(sk*d(j))
do 17444 i=1,Nmaj
sF(i,k)=0

17444 continue
do 1744 j=1p

if (d(j).Le.5.95705) then

do 1743 i=1,Nmaj
sF(1,k)=sF(i,k)+(sk-d(§))/(sk*d(G)) *w(i,j)
SS(I,K)=SF(I,K)

1743 continue
else
min=d(1)
m=1
do 1705 ji=2,p
if(d(ji).It.min) then
min=d(ji)
m=ji
end if
1705 continue
DO 1706 [=1,Nmaj
ss(Lk)y=w(I,m)
1706 CONTINUE
end if
1744 continue
155 continue
c
c
185 DO 177 I=1,Nmaj

\Y



xx(I,2*Nmaj+1)=0
177 CONTINUE

c*************************************************************************

c
do 190 i=1,Nmaj
do 195 j=1,2*Nmaj
xx(i,2*Nmaj+1)=xx(1,j)/(2*Nmaj ) +xx(1,2*Nmaj+1)
195 continue
190 continue
c
do 200 j=1,2*Nmaj+1
FF(J)=0
DO 199 N=1,NE
DO 201 i=1,NE
AREA(,j)=xx(i,j)
201 continue
[1=NOC(N, 1)
12=NOC(N,2)
I3=NOC(N,3)
14=NOC(N,4)
X21=X(12,1)-X(I1,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21**2)
AL(N,J)=AREA(I4,14)*EL
FF()=FF(J)+AL(N,J)
199 continue
200 continue
[
c=0
do 205 j=1,2*Nmaj
c=(ff(2*Nmaj+1)-ff(§))**2+c
205 continue
c
if((1.0/(2*Nmaj)*c)**0.5.1t.5.85) go to 2000
max=0
do 210 j=1,2*Nmaj
if(ff(j).gt.max) then
max=ff(j)
h=j
end if
210 continue
C

C******* 0.06666666666621.0/(2*MAJ_1) 4¢3 ok sk 2k ok ok ok ok ok 3 ok o e R e ok sk ok o e ok ke B sk ok ok ok K ok ok ke kK e ok ok
c*******2*h4AJ+2=? EEEEEESELEEE S S AL LS A R R LSRR SRR EE R ELEE L E L E L L LT T
kj=2*Nmaj+2
do 215 i=1,Nmaj
xx(1,kj)=0
do 214 j=1,2*Nmaj
xx(1,kj)=xx(1,kj)+xx(1,j)

214 continue
xx(1,kj)=1.0/(2*Nmaj- 1 )*(xx(i,kj)-xx(i,h))
215 continue
c
a=1.3

1600 do 220 i=1,Nmaj
xx(i,kj+1)=(1+a)*xx(i,kj)-a*xx(i,h)
220 continue

c
C*************************************************************************
do 225 j=1,p
do 230 i=1,Nmaj
Y =xx(@k+1)-v(i.)
230 continue
225 continue



do 235 j=1,p
dd=0
do 234 i=1,Nmaj
dd=dd+y(i,j)**2

234 continue
d(j)=sqrt(dd)
235 continue
c
sk=0
do 1755 j=1,p
if(d(j).Lt.5.9575) then
sk=sk+d(j)
end if
1755 continue
¢ z(j)=(sk-d(j))/(sk*d(5))

do 17434 i=1,Nmaj
sF(i,kj+1)=0
17434 continue
do'1741 j=1,p
if (d(§).L1.5.9575) then
do 1742 i=1,Nmaj
sF(1,kj+1)=sF(i,kj+1 ) +(sk-d(;))/(sk*d()) *w(i,j)
SS(LKJ+1)=SF(I,KJ+1)

1742 continue
else
min=d(1)
m=1
do 1707 ji=2,p
if(d(ji).lt.min) then
min=d(ji)
m=ji
end if
1707 continue
DO 1708 I=1,Nmaj
ss(Lkj+1)=w(I,m)
1708 CONTINUE
end if
1741 continue
C*********** 2¥MAJ+3=? 34 oje 2 o 3¢ 2 o o b e ke ok 2K Ak e e e e e ek e e 3 e e e e e e ok e ke ke e ok ok e ke ok ok ok ook ok ok ok ok ok ok
FF(kj+1)=0
J=kj+1
DO 242 N=1,NE
DO 241 1= I,NE
AREA(1,j)=xx(1,})
241 continue
[1I=NOC(N, 1)
I12=NOC(N,2)
13=NOC(N,3)
14=NOC(N,4)

X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21*¥2+Y21**2)
AL(N,J)=AREA(I4,J)*EL
FF(J)=FF(J)+AL(N,J)

242 continue
ff(J-1)=£fJ)

R e L R
o AR R sk sk R Rk Kok Kok KR s KR K K K R IR o Rk R R R R o K S kKR KRR KK R K ok K
AR ok o ook koK ok K ok ok Geydhaye Masale sk s o K e o sk ok ok ok 3ok Kok ok ok s ok sk ko ke ok
cRFHrkRkRk I antrole Taneshha 17 %% kKoo koo kor ook koo Aok s ook oo ook ook sk ok

Narea=3
do 325 i=1,Narea
if (xx(i,kj+1).ge.0) go to 251

YYye



go to 261

251 if (ss(i,kj+1)/13000-1.1t.0) go to 252
go to 261

252 if((-ss(i,kj+1)/13000)-1.1t.0) go to 253
go to 261

c--

c******** KOntI’Ole Sharayete Hendessi |") ok 3k ok 34 3 2k o ok 3¢ o 24 2k ok ok e 2k ok ok ok ok A 3k ok o ok Ok K ok 3k ok 3k ok ok

253 if (xx(4,kj+1).ge.-200.0) go to 254
go to 261

254 if (xx(4,kj+1).1e.200.0) go to 256
go to 261

256 if (xx(5,kj+1).ge.350.0) go to 257
g0 to 261

257 if (xx(5,kj+1).1e.550.0) go to 325

261 do 336 k=1,Nmaj
xx(k,kj+D=(xx(k kj)+xx(k kj+1))/2.0
336 continue
c*************************************************************************
FF(kj+1)=0
DO 237 N=1,NE
=kj+l1
DO 233i= |,NE
AREA(,j)=xx(1,j)
233 continue
I1=NOC(N,1)
12=NOC(N,2)
13=NOC(N,3)
14=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21**2)
AL(N,j)=AREA(I4,j)*EL
FF(j)=FF()+AL(N,j)

237 continue
ff(j-1)=f1(j)
325 continue
c
if(ff(h).gt.ff(kj)) go to 275
a=a/2.0
go to 1600
275 do 239 i=1,Nmaj
xx(i,h)=xx(i,kj)
239 continue
go to 185
2000  print*'x1="xx(1,kj-1),'x2="xx(2,kj-1),'x3="xx(3 kj-1),'x4="xx(4,kj-1)
C 'x5="xx(5,kj-1),/OBJ=', ff(kj-1)
end



(srae 8500 b pgs JUe sl (b dioge 4ol JolS e Y 0 jlal Cosy

C Nmaj=Tedade Majhola

C Nzoj=Tedade Kole Zojhaye Amozesh
C NBW=Max(2*ABS(I-1)+2)

C NN=Tedade Gereh

C ND=Tedede Aksolamal Tekiegahi

C NE=Tedade Ozvha

C
dimension v(Nmaj,Nzoj),w(Nmaj,Nzoj),xx(Nmaj,Nzoj),y(Nmaj,Nzoj),
c d(Nzoj),ss(Nmaj,Nzoj),ff(2*Nmaj+3),L(NE),SF(Nmaj,Nzoj),

¢ X(NN,2),NOC(NE,4),PM(1,2), ARE A(Nz0j,Nz0j),NU(ND),stressp(NE),
¢ REACT(ND),F(2*NN),SE(4,4),S(2*NN,NBW), AL(NE,2 *Nmaj+3),U(ND)

(KA R KR o o oSk Aok KK o o sk K KK ok o K KK SR oo e ke ok o e ok ok ok
C*************************************************************************
Print*,'Enter Nmaj,Nzoj,NE,NN,ND ?'
Read (*,*)Nmaj,Nzoj,NE,NN,ND

C*****************'********************************************************

E=21000000.0

a=0.7
b=0.1
n=1
p=1
C*************************************************************************
NQ=2*NN
NBW=0
c*************************************************************************
c FAZAYE JOSTOJO

print* 'Enter fazaye jostojo x0(1),dxx(1), ... ,x0(Nmaj),dxx(Nmaj) ?'
read (*,*) (x0(1),dxx(i),i=1,Nmaj)

do 5 k=1,Nzoj
do 1 i=1,Nmaj
xx(1,k)=x0(1)+k*dxx(i)
1 contiue
5 continue

c
C*** N= SHOMAREH OZVE, 1=SHOMARE i , 2=SHOMAREH j, 3=1 ,4=AREA ***x¥**
Cxrrdokkriidkrkik NOCN,)=SHOMAREH (i)! , NOC(N,J)=? *kskbkokdckdobkokkohk

Print*,'N=shomare ozve , l=shomare i , 2=shomare j , 3=jens , 4=area’

Print *'enter NOC(N,1),NOC(N,2),NOC(N,3),NOC(N,4)"

Read (*,*) (NOC(I,1),NOC(I,2),NOC(I,3),NOC(1,4),I=1,NE)

C

c
CHadxdddioiaaxx MOKHTASAT X=X(N,1), Y=X(N,2) **** N=SHOMAREH GEREH*******x*

C******************,************* X(N’l)_—_X(gereh) R X(N’2)=Y(gereh)********

X(1,1)=0

X(1,2)=200.0

X(2,1)=xx(5,jL)

X(2,2)=xx(6,jL)

X(3,1)y=xx(7,jL)

X(3,2)=xx(8,jL)

X(4,1)=0

X(4,2)=0
C X(5,1)=
C X(5,2)=
C X(6,1)=
C
c
C

X(6,2)=

o4 3 3 e 46 24 ke ke ke ke ok ofe o ]AHATHAII KEH T‘EKIEHGAH AST U(I):O*************************
print* 'Enter jahati keh tekiegah ast'
print* NU()=? , U(D)=0"
Read(*,*) (NU(i),U(1),i=1,ND)



c
C***N=SHOMAREH GEREH , BARE VAREDEH DAR JAHATE U(I),U(I+1) ********
Print*,'Enter N=shomare gereh , bare varede be gereh'
read(*,*) N, F(2*N-1) , F(2*N)

C************************************************************************
C************************************************

c
DO 6 I=1,Nmaj
v(Lp)=xx(I,1)
6 CONTINUE
c
7 do 10 k=2,Nzoj
do 15j=1p
do 20 i=1,Nmaj
y(i’j)zxx(iak)'v(i’j)
20 continue
15 continue
C
do 25j=1p
dd=0 .
do 24 i=1,Nmaj
dd=dd+y(i,j)**2
24 continue
d(j)=sqrt(dd)
25 continue
c
min=d(1)
m=1
do30j=1,p
if(d(j).1t.min) then
min=d(j)
m=j
end if
30 continue
c
if(d(m).gt.0.5) then
p=p+1
DO 31 1=1,Nmaj
v(Lp)=xx(Lk)
31 CONTINUE
else
do 35 i=1,Nmaj
v(i,m)=(1-a)*v(i,m)+a*xx(i,k)
35 continue
end if
10 continue
c
c

do 40 jL=1,Nzoj
c*************************************************************************
DO 45 N=1,NE
C=2*(ABS(NOC(N,2)-NOC(N,1)))+2.0
IF(NBW.LT.C)THEN
NBW=C
END IF
45 CONTINUE
C*************************************************************************
do 44 i=],NE
’ AREA(1,jL)=xx(i,jL)
44 CONTINUE
C*************************************************************************
C***** DIMENSION S(NQ’N'BW)’F(NQ),SE(474) a3k e 2k o e B¢ e 3 4 3 e e e e 3Kk oK ok kK oK K koK
DO 50 I=1,NQ
F(NQ)=0



DO 55 JJ=1,NBW

S(LJ7)=0
55 CONTINUE
50 CONTINUE

C*************************************************************************
C*************************************************************************

C********* E= BE TEDAD NM (K_E MAMOLAN YEKI AST) % 2% 3K 24 3K ofc ok o ok ok sk ok sfe ok of¢ o ok ok ok ok ok ek Kok ok
E=21000000.0
PM(1,1)=E
PM(1,2)=0.0

C*************************************************************************
C*************************************************************************
C***************** SAKI_ITI KOLI 3 e 35 4 3K 35 3k 24 sk ke ok ek 2k ke b e e ke sk ok sk ke sk e s ke ok sk ok Sk e e e sk ok ok ok K ok okok ok

DO 60 N=1,NE
I1I=NOC(N,1)
12=NOC(N,2)
13=NOC(N,3)
14=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21**2)
EAL=E*AREA(14,jLYEL
CS=X21/EL
SN=Y21/EL
SE(1,1)=CS*CS*EAL
SE(1,2)=CS*SN*EAL
SE(2,1)=SE(1,2)
SE(1,3)=-CS*CS*EAL
SE(3,1)=SE(1,3)
SE(1,4)=-CS*SN*EAL
SE(4,1)=SE(1,4)
SE(2,2)=SN*SN*EAL
SE(2,3)=-CS*SN*EAL
SE(3,2)=SE(2,3)
SE(2,4)=-SN*SN*EAL
SE(4,2)=SE(2,4)
SE(3,3)=CS*CS*EAL
SE(3,4)=CS*SN*EAL
SE(4,3)=SE(3,4)
SE(4,4)=SN*SN*EAL
DO 65 11=1,2
NRT=2*(NOC(N,I)-1)
DO 70 IT=1,2
NR=NRTHT
=2*(11-1)HT

DO 75 J1=1,2
NCT=2*(NOC(N,JJ)-1)
DO 80 JT=1,2
J=2*%(JJ-1)HIT
NC=NCT+JT-NR+1

IF(NC.LE.0) THEN
GO TO 80
END IF
S(NR,NC)=S(NR,NC)+SE(L,J)
80 CONTINUE
75 CONTINUE
70 CONTINUE
65 CONTINUE
60 CONTINUE

C*************************************************************************
CNST=S(1,1)*10000
DO 85 I=1,ND
N=NU()



S(N,1)=S(N,1)+CNST
F(N)=F(N)+CNST*U(I)
85 CONTINUE

C*************************************************************************
C********** HALLE MOADELAT 346 3% 3 24 2k o ¢ 35 346 3 o6 6 K 3 6 346 3 o6 ¢ of ok ok ke 3k ok 4 ¢ ok ok ok B 6 6 6 356 3B o6 ok ke ok ¢ ok ok ok ok K ok
NI=NQ-1
DO 90 K=1,N1
NK=NQ-K+1
IF(NK.GT.NBW) THEN
NK=NBW
END IF
DO 95 I=2,NK
C1=S(X,I)/S(K,1)
11=K+I-1
DO 100 J=I,NK
J1=J-I+1
S(I1,J1)=S(11,J1)-C1 *S(K,J)
100 CONTINUE
F(11)=F(I1)-C1*F(K)
95 CONTINUE
90 CONTINUE
FINQ=F(NQYS(NQ,1)
DO 105 KK=1,N1
K=NQ-KK
Cl=1/S(K,1)
F(K)=C1*F(K)
NK=NQ-K+1
IF(NK.GT.NBW)THEN
NK=NBW
END IF
DO 110 J=2,NK
F(K)=F(K)-C1*S(K,J)*F(K+J-1)
110 CONTINUE
105 CONTINUE

C*************************************************************************
C************************** STRESS 3 ok e ¢ o ok e ¢ 6 o6 3 8¢ e 36 o6 ok 36 6 3 o o 8 ke s ke sk e e o ok ok ok ok oK Kok R ok

DO 115 I=1,NE
11=NOC(L,1)

2=NOC(1,2)

3=NOC(1,3)

X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21%%2)
CS=X21/EL

SN=Y21/EL

12=2+11

J1=12-1

K2=2412

K1=K2-1
DT=(F(K1)-F(J1))*CS+(F(K2)-F(J2))*SN
STRESS=DT*PM(I3,1)/EL
STRESSP(I)=STRESS

115 CONTINUE
c
do 111 i=1,NE
ss(i,jL)=stressp(i)
111 continue

do 112 i=NE+1,Nmaj
ss(i,jL)=stressp(i)

112 contiue
c*********************

c***********

40  continue
¢

Y.



C*************************************************************************
do 125 k=1,Nzoj
do 130 j=1,p
do 135 i=1,Nmaj
y(i,j)=xx(1,k)-v(i,j)

135 continue
130 continue
c
do 140 j=1,p
dd=0

do 139 i=1,Nmaj

dd=dd+y(i,j)**2
139 continue

dGi)-sqrt(dd)
140 continue

min=d(1)
m=1
do 145 j=2,p
if(d(j).lt.min) then
min=d(j)
m=j
end if
145 continue
c

if(n.gt.p) then
DO 146 I=1,Nmaj
w(l,m)=(1-b)*w(I,m)+b*ss(1,k)
146 CONTINUE
else
DO 147 I=1,Nmaj
w(l,m)=ss(Lk)
147 CONTINUE
n=n+1
end if
125 continue

a=a/1.05
b=b/1.05
if(a.gt.0.1).go to 7

payan amoozesh *w¥*  ----ooemeoemeoo

xx(1,1)=17.5
xx(2,1)=4.4
xx(3,1)=12.8
xx(4,1)=3.7
xx(5,1)=140.0
xx(6,1)=130.0
xx(7,1)=180.0
xx(8,1)=60.0

xx(1,2)=20.5
xx(2,2)=5.5
xx(3,2)=13.6
xx(4,2)=4.0
xx(5,2)=110.0
xx(6,2)=85.0
xx(7,2)=200.0
xx(8,2)=55.0

xx(1,3)=19.5
xx(2,3)=4.9
xx(3,3)=16.5

AR



xx(4,3)=3.5
Xx(5,3)=95.0
xx(6,3)=120.0
xx(7,3)=200.0
xx(8,3)=60.0

xx(1,4)=25.0
xx(2,4)=5.0
xx(3,4)=17.0
xx(4,4)=3.10
xx(3,4)=150.0
xx(6,4)=95.0
xx(7,4)=205.0
xx(8,4)=48.0

xx(1,5)=16.0
xx(2,5)=7.0
xx(3,5)=21.0
xx(4,5)=3.2
xx¢5,5)=170.0
xx(6,5)=120.0
xx(7,5)=205.0
xx(8,5)=60.0

xx(1,6)=18.2
xx(2,6)=4.9
xx(3,6)=17.5
xx(4,6)=7.0
xx(5,6)=100.0
xx(6,6)=130.0
x%(7,6)=201.0
xx(8,6)=49.0

xx(1,7)=23.0
xx(2,7)=4.4
xx(3,7)=20.6
xx(4,7)=6.5
xx(5,7)=180.0
xx(6,7)=109.0
xx(7,7)=200.0
xx(8,7)=75.0

xx(1,8)=21.0
xx(2,8)=8.0
xx(3,8)=15.5
xx(4,8)=7.0
xx(5,8)=145.0
xx(6,8)=100.0
xx(7,8)=210.0
xx(8,8)=30.0

xx(1,9)=19.5
xx(2,9)=9.4
xx(3,9)=16.0
xx(4,9)=3.4
xx(5,9)=98.0
xx(6,9)=120.0
xx(7,9)=200.0
xx(8,9)=100.0

xx(1,10)=24.0
xx(2,10)=4.2
xx(3,10)=18.0
xx(4,10)=5.5
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xx(5,10)=105.0
xx(6,10)=100.0
xx(7,10)=200.0
xx(8,10)=50.0

xx(1,11)=15.5
xx(2,11)=8.1
xx(3,11)=20.5
xx(4,11)=4.0
xx(5,11)=160.0
xx(6,11)=130.0
xx(7,11)=175.0
xx(8,11)=75.0

xx(1,12)=17.7
xx(2,12)=7.9
xx(3,12)=17.0
xx(4,12)=5.1
xx(5,12)=110.0
x%(6,12)=130.0
xx(7,12)=200.0
xx(8,12)=70.0

xx(1,13)=23.5
xx(2,13)=4.2
xx(3,13)=19.0
xx(4,13)=5.7
xx(5,13)=100.0
xx(6,13)=130.0
xx(7,13)=175.0
xx(8,13)=95.0

xx(1,14)=23.5
xx(2,14)=7.2
xx(3,14)=14.11
xx(4,14)=4.8
xx(5,14)=180.0
xx(6,14)=89.0
xx(7,14)=195.0
xx(8,14)=88.0

xx(1,15)=23.0
xx(2,15)=6.0
xx(3,15)=18.0
xx(4,15)=54
xx(5,15)=95.0
xx(6,15)=120.0
xx(7,15)=185.0
xx(8,15)=65.0

xx(1,16)=17.0
xx(2,16)=4.8
xx(3,16)=19.0
xx(4,16)=3.9
xx(5,16)=168.0
xx(6,16)=95.0
xx(7,16)=200.0
xx(8,16)=60.0

xx(1,18)=0
xx(2,18)=0
xx(3,18)=0
xx(4,18)=0
xx(5,18)=0
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xx(6,18)=0
xx(7,18)=0
xx(8,18)=0

xx(1,19)=0

xx(2,19)=0

xx(3,19)=0

xx(4,19)=0

xx(5,19)=0

xx(6,19)=0

xx(7,19)=0

xx(8,19)=0
CCCCCCLCCeCCCCCCCCCCCCeCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCeeCCeceee
c

do 155 k=1,2*Nmaj
do 160 j=1,p

do 165 i=1,Nmaj
y(i.)=xx(i,k)-v(i,j)

165 continue
160 continue
c
do 170 j=1,p
dd=0

do 169 i=1,Nmaj
dd=dd-+y(i,j)**2

169 continue
d(j)=sqrt(dd)
170 continue
c
sk=0
do 175 j=1,p
if(d(j).Le.5.95705) then
sk=sk-+d(j)
end if
175 continue
do 17444 i=1,Nmaj
sF(i,k)=0
17444 continue
do 1744 j=1,p

if (d(j).Le.5.95705) then
do 1743 i=1,Nmaj
sF(i,k)=sF(i,k)+(sk-d(§))/(sk*d(j)) *w(i,})
SS(LK)=SF(I,K)
1743 continue
else
min=d(1)
m=]
do 1705 ji=2,p
if(d(ji).lt.min) then
min=d(ji)
m=ji
end if
1703 continue
DO 1706 I=1,Nmaj
ss(Lky=w(l,m)

1706 CONTINUE
end if
1744 continue
155 continue
c
185 DO 177 I=1,Nmaj
xx(I,2¥Nmaj+1)=0
177 CONTINUE
c




do 190 i=1,Nmaj
do 195 j=1,2*Nmgj
xx(1,2*Nmaj+1)=xx(1,j)/(2*Nmaj )+xx(i,2*Nmaj+1)
195 continue
190 continue

do 200 j=1,2*Nmaj+1

FF())=0
DO 199 N=1,NE
DO 201 i=1,NE
AREA(i,j)=xx(i,))

201 continue
[1=NOC(N,1)
12=NOC(N,2)
[3=NOC(N,3)
14=NOC(N,4)
X21=X12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21**2)
AL(N,J)=AREA(14,14)*EL
FF(J)=FF(J}+AL(N,])

199 continue
200 continue
¢

c=0

do 205 j=1,2*Nmaj
c=(ff(2*Nmaj+1)-ff(j))**2+c
205 continue

if((1.0/(2*Nmaj)*c)**0.5.1t.300.5) go to 2000
max=0
do 210 j=1,2*Nmaj
if(ff(j).gt.max) then
max=ff(j)
h=j
end if
210 continue

C
C*******Z*BAAJ+2:? 3 34 4 5 o A b o e sk sk ok o sk B b o sk ok sk ke 3k K B oR sk sk sk B K R 3k b B ok ok Sk b ok k6 o k56 o ok aF¢ o B K K ok

kj=2*Nmaj+2
do 215 i=1,Nmaj
xx(1,kj)=0
do 214 j=I,2*Nmaj
xx(1,kj)=xx(i,kj)Hxx(i,))

214 continue
xx(1,kj)=1.0/(2*Nmaj- 1 )*(xx(i,kj)-xx(i,h))
215 continue
c
a=1.3

1600 do 220 i=1,Nmaj
xx(L,kj+1)=(1+a)*xx(i,kj)-a*xx(i,h)
220 continue

g*************************************************************************
do225=1,p
do 230 i=1,Nmaj
y(i,j)=xx(LKj+1)-v(i,j)
230 continue
225 continue
c
do 235 j=1,p
dd=0

do 234 i=1,Nmaj
dd=dd+y(i,j)**2
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234 continue
d(§)=sqrt(dd)

235 continue

c
sk=0
do 1755 j=1,p
if(d(j).Lt.5.9575) then
sk=sk+d(j)
end if

1755 continue

c 2(§)=(sk-d(j))/(sk*d(j))

do 17434 i=1,Nmaj
sF(i,kj+1)=0
17434 continue
do 1741 j=1,p
if (d(j).Lt.5.9575) then
do 1742 i=1,Nmaj
sF(i,kj+1)=sF(i,kj+1)+(sk-d(3))/(sk*d(j)) *w(i,j)
SS(I,KJ+1)=SF(IL,KJ+1)
1742 continue
else
min=d(1)
m=1
do 1707 ji=2,p
if(d(ji).1t.min) then
min=d(ji)
m=ji
end if
1707 continue
DO 1708 I=1,Nmaj
ss(Lkj+1)=w(I,m)
1708 CONTINUE
end if
1741 continue
C*********** 2*“4AJ+3=? 24 3% 3k 3% o ok ok 3R ofe o 3k 3k o s ok ok ofe ok 3 kA sk sk ok G ok ok ok e ok ¢ ke ok ok ok 3k oK 5 3k o o ok ke oK ok ok K K
FF(kj+1)=0
J=kj+1
DO 242 N=1,NE
DO 241 i= I,NE
AREA(1,j)=xx(i,j)
241 continue
I1=NOC(N,1)
12=NOC(N,2)
13=NOC(N,3)
14=NOC(N,4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y2]1**2)
AL(N,J)=AREA(14,])*EL
FF()=FF(J)+AL(N,J)
242 continue
fiJ-1)=ff(J)
C*********************** Geydhayehda&ﬂe sk ok ok ok o 35 35 3k 3k ok R ok ok ok ok ok ok ok R R KR R ok ok
Narea=4
do 325 i=1,Narea
if (xx(i,kj+1).ge.0) go to 251

go to 261

251 if (ss(i,kj+1)/13000-1.1t.0) go to 252

goto 261
252 if((-ss(i,kj+1)/13000)-1.1t.0) go to 253

go to 261
C*************************************************************************
253 if (xx(5.kj+1).ge.80.0) go to 254

go to 261
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254 if (xx(5,kj+1).1e.250.0) go to 256

go to 261

256 if (xx(6,kj+1).ge.50.0) go to 257
go to 261

257 if (xx(6,kj+1).1e.200.0) go to 258
go to 261

258 if (xx(7,kj+1).ge.150.0) go to 259
go to 261

259 if (xx(7,kj+1).1e.350.0) go to 267
go to 261

267 if (xx(8,kj+1).ge.-100.0) go to 268
go to 261

268 if (xx(8,kj+1).1e.100.0) go to 325

261 do 336 k=1,Nmaj
xx(kkj+1)=(xx(k,kj)+xx(k,kj+1))/2.0
336 continue
c*************************************************************************
FF(kj+1)=0
DO 237 N=1,NE
=kj+1
DO 233 i= 1,NE
AREA(i,j)=xx(i,j)
233 continue
I1=NOC(N,1)
12=NOC(N,2)
13=NOC(N,3)
14=NOC(N4)
X21=X(12,1)-X(11,1)
Y21=X(12,2)-X(11,2)
EL=SQRT(X21**2+Y21*%2)
AL(N,j)=AREA(14,j)*EL
FF(j)-FF(j)+AL(N,j)

237 continue
ff(j-1)=£1(j)
325 continue
c
if(ff(h).gt.ff(kj)) go to 275
a=a/2.0
go to 1600
275 do 285 i=1,Nmaj
xx(i,h)y=xx(1,kj)
285 continue
go to 185

2000  print*'x1="xx(1,kj-1),'x2="xx(2,kj-1),'x3=",xx(3 kj-1),'x4="xx(4,kj- 1),
¢ 'x5="xx(5,kj-1),'x6="xx(6,kj-1),'x7=",xx(7 kj-1),'x8="xx(8,kj-1),'OBJ=" ff(kj-1)
end
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Abstract :

This thesis discuss about Artificial Neural Networks and neural computing . We use
neural computing for truss analysis and truss optimization after neural network
training. Neural network training was did with patterns sets to learning truss analysis
and preparing to truss optimization .

Two Artificial neural network was studied in this research that one of them is Back
propagation network and another one is Counterpropagation .

Counterpropagatibn neural network was developed , trained , tested and readied for
truss analysis and optimize. The out put of Counterpropagation network evaluated
with Complex exactly method out put and we were improved that neural network
output is desirable .

At the end , this study presents the effort in applying neural network techniques to

truss analysis and optimizes .
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